4.09 m

+0.60 m we—w

391m

=0.74 m» 3.34m 2.80m = 0.98 m —

________________________ 3a4m-----eeee--- T 280m--------- | _____1.00mLinie
..................................................................... 2,00m Linie
_____________________________________________________________________ 2:20m Liniy
______________ =3 = - .__254mLinie £
2] SR e 2
< Schlafzimmer << . . < <
13.7 m? Kinderzimmer
11.6 m?
3:34m 126 m 155m
3.30m 1.35m 271 m
E
13 Flur < j
© N &
S 7.4m < Bad a
£ 2 £ £
326m © 5.8m © ©
N ~ o
3.15m
E
074 EH e £
g Abstelko SR 2 1.59 =
o 1.0 m3g -
. 1.39m
13
b4
-- <
1,00m Linie
B PAAN i B 211 B
[ S——
Balkon
2,66 m?
221m 5.16m

921m

11.22m



Marcus
Rechteck

Marcus
Textfeld
Balkon
2,66 m²


051m

304m

- 0.99 m —»+=0.79m

6.08 m

Wandschrank E
0
.............................................................. 1m Linie__ 3.
_________________________________________________________________ 2mLinie___| .
E
Spitzboden 8
B

19,97 m?

4.66 m

4.66 m

4,66 m 272m

7.96 m

5.85m



Marcus
Textfeld
Spitzboden
19,97 m²

Marcus
Rechteck




